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P(G) = P(A) *P(G|A)+P(B)*P(G|B)+P(C)*P(G|C)
=0.28+0.88+0.34+0.82+0.38+0.8 = 0.8292
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distribution) » A :
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P(X < u—20) =P(Z <-2)=1-0.9772=0.0228
W;th DpJ , 'ﬁ Iflz igéipj
P(u-20<X <u—-0)=P(-2<Z<-1)=P(1<Z <2)=0.9772-0.8413=0.1359
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=X Bk fie Z 4T
Class Boundaries| 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80 | 80-90 [90-100
Frequency 4 6 12 15 25 16 12 6 4
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(C)FEAF FRIEER2AMITEART FA A4 2 %5 2800 %P f2 %G wR
(confidence 1nterva1)l\; i# (estimate) « (54 )
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Class Boundaries | 10~20 | 20~30 | 30~40 | 40~50 | 50~60 | 60~70 | 70~80 | 80~90 | 90~100 —
midpoint(m, ) 15 25 35 45 55 65 75 85 95
Frequency( f,) 4 6 12 15 25 16 12 6 4 100
m, - f. 60 150 | 420 | 675 | 1375 | 1040 | 900 510 380 5510
m? - f. 900 | 3750 | 14700 | 30375 | 75625 | 67600 | 67500 | 43350 | 36100 | 339900
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2mi- 1, 5510
f=X=1 - ~55.1
St 100
67 =57= = l{zm . —n(X) }:—[339900 100(55.1)° | = 366.6566
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O 10 12 15 25 16 12 10

HOF‘}j’j\;[/ P;, |0.0857|0.1202|0.1798 | 0.206 |0.1808|0.1215| 0.0872
€ 8.57 | 12.02 | 1798 | 20.6 | 18.08 | 12.15 8.72
O.-e< 143 | -0.02 | -2.98 4.4 -2.08 | -0.15 1.28
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=X (n-1s* (n-1s* ):((99)(366.6566) (99)(366.6566)

Z; (n-1) ’ le_g (n-1) Zg.ozs (99) ’ 15975 (99)
2 2
_(99)(366.6566) (99)(366.6566)
X 5.025 (99) , X 5.975 (99)
N (99)(366.6566) (99)(366.6566)
1286020 ' 73.0910
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